EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (MO/17)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of NOV-2017

Date: MARCH-18

	SESSION : 20	017-2018 CLASS : PH	ID_A	C		BR	ANCH :				SEN	/IESTE	R/TF	RIMES	TER	: Pre	-Ph.D			MONT	H OF EXAM	: NOV-	-2017
	ROLL NO	NAME	U L	SAC3	003(3)	MBA	5001(3)	SAC1	011(3)	SAC2	005(3)		-	-	-	-	=		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	PHD/AC/10002/17	CH JAMKHOKAI MATE	U	A+	27.0	B+	21.0	A	24.0	В	18.0	-	-	-	-	-	-	-	-	90.0	12.0	7.5	
Į	111D/AC/10002/17	CH JAWKHOKAI WATE	L	-	-	-	-	-	-	-	-	-		-	-	-	-	-		70.0	12.0	7.5	_

: INDUSTRIAL CHEMISTRY SAC3003(3) MBA6001(3) : RESEARCH METHODOLOGY : ENVIRONMENTAL CHEMISTRY SAC1011(3) SAC2005(3) : ADVANCED ANALYTICAL TECHNIQUES

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: MARCH-18

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (MO/17)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of NOV-2017

SESSION : 2	017-2018 CLASS : PHI	)_A(	2		BRA	NCH :				S	EMES	ΓER / Ί	RIME	STER	: P1	e-Ph.I	)		MON	ΓΗ OF EXAM	: NOV	-2017
ROLL NO	NAME	U L	MBA	6001(3)	SAP3	115(3)	TNM	2007(3)		- 	-	-	-		-		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/AP/10001/17	RANJAN KUMAR SINGH	U	A	24.0	В	18.0	A	24.0	-	-	-	-	-	-	-	-	-	-	66.0	9.0	7.33	_
11115/141/10001/17	TO IT IT IN KOMI IK SINGII	L	-	-	-	-	-	-	-	_	-	-	-	-	_	-	-	-	00.0	] 7.0	'.55	

MBA6001(3) SAP3115(3) TNM2007(3)	RESEARCH METHODOLOGY     ADVANCED EXPERIMENTAL TECHN.     SURFACE COATING	-	:
-	: SURFACE COATING	-	:
-	:	-	:
-		-	:
-		-	•

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (MO/17)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of NOV-2017

Date :

SESSION :	2017-2018 CLASS : P	HD_	AC		]	BRANCH	: 1				SEMES	TER / TR	RIMEST	ER : 1	Pre-Ph	.D			MONTH	OF EXAM	: NOV-2	2017
ROLL NO	NAME	U L	DBT2	005(3)	MBA	5001(3)	DBT1	-		-	DBT2	016(3)		2006(3)					TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/BE/10001/17	FARKHUNDA FATIMA	U	A+	27.0	A+	27.0	A+	27.0	A+	27.0	-	-	-	-	-	-	-	_	108.0	12.0	9.00	
111D/BE/10001/17	PARKITUNDA PATIMA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	108.0	12.0	9.00	-
PHD/BE/10002/17	BOBBY BHARTY	U	-	-	A+	27.0	A+	27.0	-	-	A+	27.0	A+	27.0	-	-	-	-	108.0	12.0	9.00	
PHD/BE/10002/17	BUBBI BHARII	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	108.0	12.0	9.00	-

DBT2005(3)	: IMMUNOLOGY & MEDICAL BIOTECHNOLOGY	-	:
MBA6001(3)	: RESEARCH METHODOLOGY	-	:
DBT1002(3)	: TECHNIQUES IN MOLECULAR BIOLOGY & GENETIC ENGG.	-	:
DBT2004(3)	: ANIMAL BIOTECHNOLOGY	-	:
DBT2016(3)	: FUNCTIONAL GENOMICS & PROTEOMICS	-	:
DBT2006(3)	: PLANT BIOTECHNOLOGY	-	:
-	:	-	:

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Date: MARCH-18

: OPTICAL FIBRE SENSOR & INSTRUMENTATION SYSTEM APPLIED INDUSTRIAL INSTRUMENTATION

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (MO/17)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of NOV-2017

SESSION :	2017-2018 CLASS :	PHD	AC	`		BRANG	CH :	`		`	SEM	ESTER	/ TRIM	ESTER	: Pre-	Ph.D			MONTH O	F EXAM :	NOV-2	017
		U	MBA	6001(3)	MEC	1005(3)	MEC	1011(3)	MEC	1019(3)	MEC	041(3)	MEC	1047(3)	MEC:	1051(3)	MEC	1055(3)				
ROLL NO	NAME	L	MEC1	057(4)	MEC	1103(3)	MEC	1123(4)	MEC	1137(3)	MEC2	2001(3)	MEC:	2011(3)	MEC	2019(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/EC/10001/17	NIRUPAM	U	Α	24.0	-	-	-	-	-	-	-	-	A	24.0	-	-	A	24.0	72.0	9.0	8.00	
FHD/EC/10001/17	NIKUFAM	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72.0	9.0	8.00	_
DLID/EC/10002/17	C A CHI CH ANIZ A D	U	A	24.0	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-	72.0	10.0	7.20	
PHD/EC/10002/17	SASHI SHANKAR	L	-	-	-	-	В	24.0	-	-	-	-	-	-	-	-	-	-	/2.0	10.0	7.20	-
DIID/EC/10002/17	CELTANIALI CINCH	U	A+	27.0	-	-	-	-	Α	24.0	-	-	-	-	-	-	-	-	102.0	12.0	0.50	
PHD/EC/10003/1/	GEETANJALI SINGH	L	-	-	A+	27.0	-	-	-	-	-	-	-	-	A	24.0	-	-	102.0	12.0	8.50	-
DIID/EC/10004/17	DD AVEEN KINAD CINCH	U	Ex	30.0	Α	24.0	-	-	-	-	-	-	A	24.0	-	-	-	-	102.0	12.0	0.50	
PHD/EC/10004/17	PRAVEEN KUMAR SINGH	L	-	-	-	-	-	-	-	-	-	-	-	-	A	24.0	-	-	102.0	12.0	8.50	-
DLID/EC/10006/17	LIDAY KUMAD	U	В	18.0	-	-	-	-	-	-	B+	21.0	-	-	-	-	-	-	63.0	10.0	6.3	
PHD/EC/10006/17	UDAY KUMAR	L	-	-	-	-	В	24.0	-	-	-	-	-	-	-	-	-	-	63.0	10.0	6.3	-
DLID/EC/10007/17	DEVA NACI	U	A	24.0	-	-	В	18.0	-	-	-	-	-	-	A	24.0	-	-	87.0	12.0	7.25	
PHD/EC/10007/17	REVA NAGI	L	-	-	-	-	-	-	-	-	-	-	B+	21.0	-	-	-	-	87.0	12.0	7.25	-
PVID (T) (2) (4) (4) (4)		U	A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
PHD/EC/10008/17	MD SHAHNAWAZ HUSSAIN	H			-					27.0	<u> </u>	27.0	<b>—</b>	<b>_</b>	<del> </del>			$\vdash$	78.0	9.0	8.67	-

MBA6001(3)	: RESEARCH METHODOLOGY	MEC1057(4)	: ADVANCED INSTRUMENTATION SYSTEM
MEC1005(3)	: ELECTROMAGNETIC INTERFERENCE & ELECTROMAGNETIC	MEC1103(3)	: VLSI DESIGN & APPLICATION
MEC1011(3)	: COMPATIBILITY	MEC1123(4)	: WIRELESS COMMUNICATION
MEC1019(3)	: PROBABILITY MODELS & STOCHASTIC PROCESSES	MEC1137(3)	: RADAR SIGNAL ANLYSIS
MEC1041(3)	: MICROELECTRONIC DEV. & CIRCUITS	MEC2001(3)	: ADVANCED DIGITAL SIGNAL PROCESSING
MEC1047(3)	: SATELLITE BASED WIRELESS COMMUNICATION	MEC2011(3)	: DIGITAL IMAGE PROCESSING TECHNIQUES
MEC1051(3)	· SENSORS & TRANSDUCERS	MEC2019(3)	<ul> <li>MICRO ELECTRO MECHANICAL SYSTEMS</li> </ul>

Controller of Examinations

Disclaimer

MEC1055(3)

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Disclaimer

EXAMINATION DEPARTMENT

Date: MARCH-18

: OPTICAL FIBRE SENSOR & INSTRUMENTATION SYSTEM APPLIED INDUSTRIAL INSTRUMENTATION

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (MO/17)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of NOV-2017

SESSION :	2017-2018 CLASS :	PHD	AC	`		BRANG	CH :	`		`	SEM	ESTER	/ TRIM	ESTER	: Pre-	Ph.D			MONTH O	F EXAM :	NOV-2	017
		U	MBA	6001(3)	MEC	1005(3)	MEC	1011(3)	MEC	1019(3)	MEC	041(3)	MEC	1047(3)	MEC:	1051(3)	MEC	1055(3)				
ROLL NO	NAME	L	MEC1	057(4)	MEC	1103(3)	MEC	1123(4)	MEC	1137(3)	MEC2	2001(3)	MEC:	2011(3)	MEC	2019(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/EC/10001/17	NIRUPAM	U	Α	24.0	-	-	-	-	-	-	-	-	A	24.0	-	-	A	24.0	72.0	9.0	8.00	
FHD/EC/10001/17	NIKUFAM	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	72.0	9.0	8.00	_
DLID/EC/10002/17	C A CHI CH ANIZ A D	U	A	24.0	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-	72.0	10.0	7.20	
PHD/EC/10002/17	SASHI SHANKAR	L	-	-	-	-	В	24.0	-	-	-	-	-	-	-	-	-	-	/2.0	10.0	7.20	-
DIID/EC/10002/17	CELTANIALI CINCH	U	A+	27.0	-	-	-	-	Α	24.0	-	-	-	-	-	-	-	-	102.0	12.0	0.50	
PHD/EC/10003/1/	GEETANJALI SINGH	L	-	-	A+	27.0	-	-	-	-	-	-	-	-	A	24.0	-	-	102.0	12.0	8.50	-
DIID/EC/10004/17	DD AVEEN KINAD CINCH	U	Ex	30.0	Α	24.0	-	-	-	-	-	-	A	24.0	-	-	-	-	102.0	12.0	0.50	
PHD/EC/10004/17	PRAVEEN KUMAR SINGH	L	-	-	-	-	-	-	-	-	-	-	-	-	A	24.0	-	-	102.0	12.0	8.50	-
DLID/EC/10006/17	LIDAY KUMAD	U	В	18.0	-	-	-	-	-	-	B+	21.0	-	-	-	-	-	-	63.0	10.0	6.3	
PHD/EC/10006/17	UDAY KUMAR	L	-	-	-	-	В	24.0	-	-	-	-	-	-	-	-	-	-	63.0	10.0	6.3	-
DLID/EC/10007/17	DEVA NACI	U	A	24.0	-	-	В	18.0	-	-	-	-	-	-	A	24.0	-	-	87.0	12.0	7.25	
PHD/EC/10007/17	REVA NAGI	L	-	-	-	-	-	-	-	-	-	-	B+	21.0	-	-	-	-	87.0	12.0	7.25	-
PVID (T) (2) (4) (4) (4)		U	A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
PHD/EC/10008/17	MD SHAHNAWAZ HUSSAIN	H			-					27.0	<u> </u>	27.0	<b>—</b>	<b>_</b>	<del> </del>			$\vdash$	78.0	9.0	8.67	-

MBA6001(3)	: RESEARCH METHODOLOGY	MEC1057(4)	: ADVANCED INSTRUMENTATION SYSTEM
MEC1005(3)	: ELECTROMAGNETIC INTERFERENCE & ELECTROMAGNETIC	MEC1103(3)	: VLSI DESIGN & APPLICATION
MEC1011(3)	: COMPATIBILITY	MEC1123(4)	: WIRELESS COMMUNICATION
MEC1019(3)	: PROBABILITY MODELS & STOCHASTIC PROCESSES	MEC1137(3)	: RADAR SIGNAL ANLYSIS
MEC1041(3)	: MICROELECTRONIC DEV. & CIRCUITS	MEC2001(3)	: ADVANCED DIGITAL SIGNAL PROCESSING
MEC1047(3)	: SATELLITE BASED WIRELESS COMMUNICATION	MEC2011(3)	: DIGITAL IMAGE PROCESSING TECHNIQUES
MEC1051(3)	· SENSORS & TRANSDUCERS	MEC2019(3)	<ul> <li>MICRO ELECTRO MECHANICAL SYSTEMS</li> </ul>

Controller of Examinations

Disclaimer

MEC1055(3)

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (MO/17)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of NOV-2017

Date :

SESSION :	2017-2018 CLASS : PH	D_A	.C		Bl	RANCH	:			SEM	IESTER	/ TRIMI	ESTER	: 1	Pre-Ph	.D			MONTH	OF EXAM	: NOV-	2017
ROLL NO	NAME	U L	MBA	6001(3)	MME	1001(3)	MME	1003(3)	MME	1065(3)	TET1	007(3)				-		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
PHD/ME/10001/17	GAURAV KUMAR	U	B+	21.0	-	-	-	-	B+	21.0	-	-	-	-	-	-	-	-	42.0	6.0	7.00	_
111D/WIL/10001/17	GAURAV KUWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	42.0	0.0	7.00	_
DLID/ME/10002/17	S M MOZAMMIL HASNAIN	U	B+	21.0	-	-	B+	21.0	-	-	-	-	-	-	-	-	-	-	42.0	6.0	7.00	
FHD/WE/10002/17	S W MOZAWIMIL HASNAIN	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	42.0	0.0	7.00	-
PHD/ME/10003/17	MANISH KUMAR	U	B+	21.0	A	24.0	-	-	-	-	-	-	-	-	-	-	-	-	45.0	6.0	7.50	
PHD/ME/10003/17	MANISH KUMAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	45.0	6.0	7.30	-
PHD/ME/10005/17	ASIM AHMAD	U	A	24.0	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-	48.0	6.0	8.00	
FHD/WE/10003/17	ASIWI ATIVIAD	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	40.0	0.0	0.00	-
PHD/ME/10051/16	SHAILESH KUMAR SARANGI	U	-	-	-	-	A	24.0	-	-	-	-	-	-	-	-	-	-	24.0	3.0	8.00	
FFID/ME/10031/16	SHAILESH KUWAK SAKANGI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	24.0	3.0	8.00	-

MBA6001(3)	: RESEARCH METHODOLOGY	-	:
MME1001(3)	: ADVANCED FLUID MECHANICS	-	:
MME1003(3)	: HEAT & MASS TRANSFER	-	:
MME1065(3)	: ADVANCED COMPUTER GRAPHICS	-	:
TET1007(3)	: SOLAR ENERGY TECHNOLOGY	-	:
-	:	-	:
-	:	-	:

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD AC-Pre-Ph.D / (MO/17) 2017-2018

By the order of Examination committee, the following is the result of PHD AC - Pre-Ph.D Semester held in the month of NOV-2017

Date	:	MARCH-18

Controller of Examinations

SESSION :	2017-2018 CI	LASS :	PHD_AC			BRANCH :						SEMESTER / TRIMESTER					Ph.D			MONTH C	: NOV-2017		
ROLL NO	NAME		U		MBA6001(3) MPH2041(3)		MPH1033(3) MPH1005(3)		MPH1035(3) MPH1003(3)		MPH1041(3) MPS5003(3)		MPS1203(3)		MPS1205(3)		211(3)	MPS1213(3)		TOTAL CREDIT	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	<del></del>	GR.		GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS	SGPA	
PHD/PH/10001/17	PRITHA BOSE		U	A	24.0	A	24.0	A+	27.0	-	-	_	-	-	-		-	-	-	102.0	12.0	SGPA 8.50 9.00 8.50 8.75 6.75 8.25	-
			L	-	-	-	-	-	-	A+	27.0	-	-	-	-		-	-					
PHD/PH/10002/17	SUPARNA ROY SARKAR		U	A+	27.0	A+	27.0	A+	27.0	-	-	-	-	-	-		-	-		108.0	12.0	9.00	_
11111/111/10002/17	SOTTHE WITHOUT STREET		L	-	-	-	-	-	-	A+	27.0	-	-	-	-		-	_		100.0	12.0	7.00	
PHD/PH/10003/17	RUNJHUN PALLAVI		U	A	24.0	-	-	-	-	A+	27.0	_	-	-	-		-	-	-	102.0	12.0	12.0 8.50	_
11111/111/10003/17	ROTUITETTIBETTT		L	A	24.0	-	-	-	-	A+	27.0	-	-	-	-	-	-	-	-	102.0	12.0		
PHD/PH/10004/17	NIMMY KUMARI		U	A	24.0	-	-	-	-	-	-	-	-	-	-		-	-	-	105.0	12.0	8 75	
11115/111/10004/17	TAIMINT ROWARD		L	-	-	A+	27.0	A+	27.0	A+	27.0	-	-	-	-	-	-	-	-	103.0	12.0	0.73	
PHD/PH/10005/17	MALAY CHOUDHARY		U	B+	21.0	В	18.0	В	18.0	-	-	-	-	-	-	-	-	-	-	81.0	12.0	6.75	
111D/111/10003/17	MALAT CHOODHAKT		L	-	-	-	-	-	-	A	24.0	-	-	-	-	-	-	-	-	81.0	12.0	0.73	_
PHD/PH/10006/17	SABYA SACHI DAS		U	A	24.0	-	-	-	-	-	-	-	-	-	-		-	-	-	99.0	12.0	8 25	
11110/111/10000/17	SABTA SACIII DAS		L	-	-	A	24.0	A	24.0	A+	27.0	-	-	-	-	-	-	-	-	33.0	12.0	6.23	
PHD/PH/10007/17	SARITA KUMARI		U	A	24.0	-	-	-	-	-	-	-	-	-	-	A+	27.0	A	24.0	102.0	12.0	8 50	_
			L	-	-	-	-	-	-	A+	27.0	-	-	-	-		-	-	-				

MBA6001(3) : RESEARCH METHODOLOGY MPH2041(3) : MEDICINAL PLANT BIOTECHNOLOGY

MPH1033(3) : PHARM & TOXICOLOGICAL SCREENING METHODS MPH1005(3) : MODERN PHARACEUTICS MPH1035(3) : CELLULER & MOLECULAR PHARMACOLOGY MPH1003(3) : DRUG DELIVERY SYSTEM

MPH1041(3) : ADVANCED PHARMACOGNOSY MPS5003(3) : STRATERGIES FOR DESIGNING ANTI FLAVIVIRAL AGENTS

MPS1203(3) : DRUG DELIVERY SYSTEM - : : MPS1205(3) : MODERN PHARACEUTICS - :

MPS1211(3) : ADVANCED ORGANIC CHEMISTRY - I
MPS1213(3) : ADVANCED MEDICINAL CHEMISTRY -

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (MO/17)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of NOV-2017

Date :

SESSION :	2017-2018 CLASS : PH	ID_A	AC .		]	BRANCI	I :				SEM	ESTER /	TRIME	ESTER	: Pre-	Ph.D			MONTH	I OF EXAM	: NOV-	2017
ROLL NO	NAME	U L	MBA6001(3)		SGI1009(3)		SGI3001(3)		TES1007(3)		TES1015(3)		TES1017(3)		TIT1033(3)		3) -		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.			SGPA	
PHD/RS/10001/17	BEEPENDRA SINGH	U	В	18.0	-	-	-	-	B+	21.0	-	-	A	24.0	С	15.0	-	-	78.0	12.0	6.50	_
111D/RS/10001/17	BEET ENDRA SINGIT	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	78.0	12.0 6.30		
PHD/RS/10003/17	NAYAMA VALSA SCARIAH		A	24.0	B+	21.0	-	-	-	-	-	-	-	-	С	15.0	-	-	60.0	9.0	6.67	_
111D/RS/10003/17	INATAMA VALSA SCAMAII	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	9.0	SGPA 6.50 6.67 8.67	_
PHD/RS/10004/17	SWADHINA KOLEY	U	A	24.0	-	-	A+	27.0	-	-	A+	27.0	-	-	-	-	-	-	78.0	9.0	9 67	
FHD/KS/10004/17	SWADHINA KOLE I	L	-	-	-	-	-	-		-	-	-	-		-	-	-		78.0	9.0	8.07	_
PHD/RS/10005/17	STIDH A DVOLITI DOSE	U	A+	27.0	A	24.0	-	-	-	-	-	-	-	-	A	24.0	-	-	75.0	9.0	0 22	
FHD/RS/10003/17	SUBHADYOUTI BOSE		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	/3.0	9.0	8.33	-

: RESEARCH METHODOLOGY	-	:
: GEOSCIENCES & IMAGE INTEPRETATION	-	:
: SPATIAL ANALYSIS MODELING & DECISION SUPPORT SYSTEM	-	:
: ECOLOGICAL DYNAMICS & ENERGY	-	:
: ENVIRONMENTAL & NATURAL RESOURCE MANAGEMENT	-	:
: ECOLOGICAL SCIENCE & MANAGEMENT	-	:
: SOFT COMPUTING	-	:
	GEOSCIENCES & IMAGE INTEPRETATION     SPATIAL ANALYSIS MODELING & DECISION SUPPORT SYSTEM     ECOLOGICAL DYNAMICS & ENERGY     ENVIRONMENTAL & NATURAL RESOURCE MANAGEMENT     ECOLOGICAL SCIENCE & MANAGEMENT	: GEOSCIENCES & IMAGE INTEPRETATION : SPATIAL ANALYSIS MODELING & DECISION SUPPORT SYSTEM - : ECOLOGICAL DYNAMICS & ENERGY - : ENVIRONMENTAL & NATURAL RESOURCE MANAGEMENT - : ECOLOGICAL SCIENCE & MANAGEMENT -

Controller of Examinations

Disclaimer

Disclaimer

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / MESRA / PHD\_AC-Pre-Ph.D / (MO/17)/ 2017-2018

By the order of Examination committee, the following is the result of PHD\_AC - Pre-Ph.D Semester held in the month of NOV-2017

Date: MARCH-18

L	SESSION : 20			BRA	NCH :	SEMESTER / TRIMESTER : Pre-Ph.D									MONTH OF EXAM : NOV-2017								
	ROLL NO	NAME	U L	MBA	MBA6001(3)		MSR2033(3)		MEC1011(3)		MME1003(3)				-		-		- -	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
L				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	PHD/SER/10001/17	LAVALA SRINIVASA RAO	U	A	24.0	B+	21.0	F	0.0	-	-	-	-	-	-	-	-	-	-	45.0	9.0	5.00	_
	THE/SER/10001/17	EAT VALAT SKILLI VASA KALO	L	-	-	-	-	-	-	-	-	-	-	-		-	-	-	-	43.0	7.0	3.00	
Г	PHD/SER/10052/16	MENGU DINESH	U	-	-	-	-	-	-	B+	21.0	-	-	-		-	-	-	-	21.0	3.0	7.00	-
L		MENGU DINESH	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			7.00	

MBA6001(3)	: RESEARCH METHODOLOGY	-	:
MSR2033(3)	: ADVANCED COMPUTATIONAL FLUID DYNAMICS	-	:
MEC1011(3)	: PROBABILITY MODELS & STOCHASTIC PROCESSES	-	:
MME1003(3)	: HEAT & MASS TRANSFER	-	:
-	:	-	:
-	:	-	:
-	:	-	:
-	:	-	

Controller of Examinations

Disclaimer

Disclaimer